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L. [39-1] i H AL ¢, (15 T H R A A BFENLAE & X 1501151
(1) P(X = k) = ck, =1,2,...,m;
2) P(X=k)=2" k=12, 3 x>0

2. [40-3] — NP 5 B, FER 5 AR EABIRARCT 1,2,3,4,5. WASTIRBUEERL 3 B, 45 BRu
517 A A, SKICEIORR AR RACHCT X 044751,
3. [43-1] N—HEEAT 10 PEIE B 3 PRUCHA 07— FF—PEAUIRL. SEARUCHIIRIN, 4647 i) 9 T
HI%E. T80 3 AT, 4R BIRHEEIRGEE R LT U X 81,

(1) UL 0775 TG — 7

(2) YR 7 Bl B

(3) WU — 7 it 5 R — P
4, [ BERTEVCEE) RO 4 1B, R4 528 BT 03 R T 9,

HARZARE 0.4, B X @ APl RN 20T HIREL, SR X #2151,
5. [125-1] CAHIBENVE & X A RsInT, sREIE E(X). E(X?). E(3X? +5) KipfEZE D(X).
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L. [39-2] IHEREL ¢, B P(X =1i) = 5:(i = 0,1,2,3) BONFABEYIA R X a5, 7K
(1) P(X >2);
(2) P(5<X<3).
2. [41-4] BAHIFEHAE R X BAEIIT, R —TC RO 362 + 2Xt + (X + 1) = 0 f SLEURIE .
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3. [125-3] ¥ X FoRm 10 WAHB A S 8 gl b an b H AR R 8L, Bk ar b H AR 0.6, RIS
E(2X? +3) KArfEzE D(X).

4. [124-30] FpKAE L PR ERIEEER N p(0 < p < 1), B AR S EH I, BRI —R
AR S RS . UGB — AL E 2R 7 TR AN B0 X, SR X = E(X) MbRiEZE
D(X).

5. [45-7] BT 4 600 GHIR, CHEEGZIRAERFRMEE R 0.005, FIAFA TR AT -

(1) W) W2 4 481, SKRE R kAR B G RE1S 2] M e iR (IREEEERAFTE 1 K414
€L);

(2) | RFELHZ D AU T, A B4 PR A AL R S5 R REAS 21 SN 4R RIS A/ VT 0.967

6. [46-8] FaGEIT HH DAL A4 S0 —4F — EIK T B A K B 2 45 A 10000 44, 4ot 4000 44, (HA
2000 4 4480 B BEALAIER 2000 4 ZINEE3E, SKSFEH Lot X 9 1id).

7. [46-9) F NS Ay RNy 40%. BUE A WA R A iy AT, B X FOR M B I BT E S A IR AL
KX 5 AY, FEHTH R X BRI,

8. [44-2] IRBEHAZE: X ~ B(n,p) , DM P(X =1) = P(X —n—1), R p 5§ P(X =2) {fH.

9. [44-3] AL 3 WAH BN IRES b, F0F A HIRERANSE, A A 20 1 KRS T 32, K A 1
1 Yt it DA

10. [45-5) —iKiE BA 10 ERTH , BHERAN 4 AP, 4 Euih A 1 UL IERRR. RSN
A AERU R R 2 FE ML 8, SR A28 1 AR IR DA 2 /DR 6 R

11, [45-6] FHBAEAT AN t(JH]) B 1) N A AR IR AR AL N () ~ P(AE), HAEARE P A i ) B A % 2
R REOH BN, SR (1) AMLRHI RN 20 &R 3 RIS, (2) fEHESE 8 JH N BRI B T, fEAR kK
8 Ju H T JCHL R AR




